
 

 

 
 
 

 Copyright 2013 ELECTROLUX HOME PRODUCTS PTY LTD  Technical Services 

ELECTROLUX 
 

ELECTRIC 
BUILT-IN OVENS 

 Issue:  1 
 Technical Publication Nº  CE656.docx Date:  7/13 

MODEL: 
   EVE676BA 
   PNC 944271198 

ELECTROLUX HOME PRODUCTS PTY LTD 
ABN 51 004 762 341 



- 1 -© Electrolux



- 2 -© Electrolux

Exploded view no.: P00003047706

P00003074409

Matrix PNC ELC ProdDate Model

A 944271198 00 20130704 EVE676BA

Pos Part No. Matrix Description

500C 3156914057 A Heating element,round

500U 3159672009 A Heating element,upper,grill,230V/1500W

502S 5612350016 A Oven lamp,complete,side,G9,250V,25W

504S 3874617008 A Bulb,G9,230V,25W

506S 3890865995 A Glass,oven light,side

510C 3890813045 A Convection micro-motor

510V 3156935060 A Motor,fan assembly,230V

512 3157290002 A Impeller

513 3153252006 A Nut,fan wheel

516A 3878401045 A Power board,configured,OVC3000, 4 relays

517 3158807002 A Retainer,power board

518 3155832029 A Thermostat,PT500

518V 3302081181 A Thermostat,violet,NC 250deg

522 3871270017 A Cable clamp,anti-strain clip

522B 3879638009 A Cable holder,round,D22mm

522C 3157253000 A Spacer,electronic,15,9mm M4x8

522D 3306473004 A Clip,fixing,electronic,l=22,9mm

530 3192553018 A Clamp,connection,three-pole

534 5610450040 A Nut,heating element,upper,M4

999 3570551543 A Power cable,1600mm, 3x1,5mm2

999 5612222009 A Harness,sidekick

999 5616011002 A Harness,user interface board,XC01<->N3/XC01



- 3 -© Electrolux

milleric
Line

milleric
Text Box
300



- 4 -© Electrolux

Exploded view no.: P00003061209

P00003074410

Matrix PNC ELC ProdDate Model

A 944271198 00 20130704 EVE676BA

Pos Part No. Matrix Description

300 5615902532 A Front glass,inox,Electrolux,594x269mm

310A 3157813001 A Door glass,452x238mm

310B 3158393003 A Door glass,460x246mm

312 5615902003 A Assembly,inner door

316A 3159666001 A Oven gasket

316B 3159172000 A Gasket,front glass

316C 3156926036 A Retainer,glass,internal

320B 4055190641 A Kit,screw,5x M4x7

330 0500108030 A Door handle,inox,506mm

332 2710013653 A Adaptor,door handle,black

336 3156541009 A Rubber buffer

350 3155202561 A Hinge,door

999 4055185245 A Kit,screw,door handle,M4x52 A2K

999 5615596003 A Support,door handle



- 5 -© Electrolux



- 6 -© Electrolux

Exploded view no.: P00003047709

P00003074411

Matrix PNC ELC ProdDate Model

A 944271198 00 20130704 EVE676BA

Pos Part No. Matrix Description

106 3159653009 A Top cover

109 3159654015 A Back panel,Compact

110 3159650005 A Bottom plate,Compact

111L 3159658008 A Side panel,left,built-in,373.75x515.5mm

111R 3159651003 A Side panel,right,built-in,373.75x515.5mm

112L 5616080205 A Side trim,left,grey

112R 5616081203 A Side trim,right,grey

116 3154353001 A Bezel,Kunststoff

999 3158120000 A Mounting set,fixing screw,4 pcs.,3.8 x 15



- 7 -© Electrolux



- 8 -© Electrolux

Exploded view no.: P00003047708

P00003074412

Matrix PNC ELC ProdDate Model

A 944271198 00 20130704 EVE676BA

Pos Part No. Matrix Description

400 3157176201 A Partition,Clean

402       3159663008      A             Carrier,component,bac.,Compact 

404L 3157795000 A Rack,left

404R 3157795018 A Rack,right

406 5614852019 A Clip,fixing,grating

408 3159677008 A Assembly,cooling,channel,Classic

408L 4055127338 A Kit,cooling system,adaptor

415 3156912002 A Counterbearing,set of 2

430 3870290016 A Grill grid,high-grade steel,426mm x 357,4mm

432B 3870287202 A Baking tray,grey/blue,enamelled,426x360x22mm

999 3159663008 A Carrier,component,back,Compact



- 9 -© Electrolux



- 10 -© Electrolux

Exploded view no.: P00003047710

P00003074413

Matrix PNC ELC ProdDate Model

A 944271198 00 20130704 EVE676BA

Pos Part No. Matrix Description

210 5615900221 A Control panel,inox,Electrolux,60cm, VCU

220A 5616524327 A User interface board,configured,VCU

220B 5617665004 A Touch pcb,user interface board

224 5614977204 A Carrier,user interface board,touch control



-
 
1
2
 
-

©
 
E
l
e
c
t
r
o
l
u
x




